OankoH

5,9m2 |
@ | i
rocTMHas |<yXH$|2 6a116|<<(>)|-| ,
2 M
13,0m 74,6M2 15,6m - | ,
& . 2 | || |
3 83’5M KYXHS1 rocTuHas
77,87M2 TNEecTHUYHas TORXIA 11’8M2 17’1M2
OO0 E KneTka
O O]
7,7m? 29
crnanbHs O ﬁ E st 2
12,3m? BafHHa ] Tambyp 70,3m
kopuaop 2 / 76 3M2
2 4.7m cly L]
8,5m ’ 1,7m2 \OPMA0P 72,1m>
5,1m2 = 7,9m? ’
KnagoBasi
2
1,6Mm 2 cnanbHs [
cnanbHs === L 3,6m 11,1m2
12,8Mm2 | Kopugop BaHHa )
. | zp;:ol;r( an ) npuxoxasi
| 2
: 3,0M2 / ’ 17.8m Ne53 3,2m } —
fi ng [Ne59 e el
oM ’
ﬂms;% S— o
cnanbHs
10,6m? 2,6m? Kopuaop 2,4m
————— 2
_____ e A0m cnanbHs
e Kopunaop oM. Ans Npoxoda ¥ nOMeLY. AN NPOXoAa /] 1 1 5M2
5 1M2 KOMMY i KOMMy L ) ;
’ 2
rocTuHas - | O 40,5M2
2 13,3m2 iy nufRToBa 2
! ’ 52;4M2 (Haxy 47,6m 3| xunas
NOMKNA —
A il 2 61 ,3M%’ npuxoXas 44,05m KOMHaTa
2
56,85M2 i 5,3Mm " T 19,3m
i SRS e K
8,9M2 :- I ey npuxoxas [ L 7 1 2/
) M
% )
KyXHs1 5,1m?2 _nofpxms||
11,2m2 ———n____ — nndpTOBOI XOMNN =
T+ [ 1o = 2
. 2 2 . KyXHS
NS 13,5m2 £} 4,9m |
i Ond & o g0 9 32 § — il =
] A
J S [reroet [ npwonan raoy I =] s
4 e I | 3.0m2 6,8m? oM |
K I 1950 [Ne57 Ne56 5 18,5m2
! e T |
KyXHS kopuaop | |knagosas ‘5 “““ |'|F31’|X0>K§‘;IF| nopxus||
2 2 ‘
1 9,1m2 . L 6:9m 5
e - 65,5m
70,8m2 |
2 2| | 59 2 p 5,3m2
51,6M2 43,0M2 68,15m3 oM
|| 2 55,7m 1 [50,9m2] |
53,65M>3 46,95m3 |
rocTuHas cnarbHs rocTMHas KyXHst
15,8m? 13,5m? 14,6Mm? . 14,9m2
| | : I ; | {
pal | BSOS S S X X S S 20 X I &'A'Lﬁ'&'ﬂ LA GO A | N :
— — crnanbHs crnanbHs
{ 2 R 2
4,1m2 7,9m2 : 1I8,1M : 1I2,4M
30/1 - AP
MHOrokBapTUpHbLIA AOM, PacnosIOKeHHbIN No agpecy:
Hwxeropogckas obnactb, r HvwxkHui Hosropog, yn. MNyLwkmnHa
Mam. | K.yu. [Nt |Ngok [Mognvcs|data (Il aTan cTpouTenscTBa)
Cragusa | Jluct JlnctoB
n 10
Wcnonnut. [lasapes M.A. 7., 07.2022
' MnaH 9-ro aTaxa c Hymepaumen KkBapTup 000
M 1:100 "MNMA Jasapesa A. C."
H.KOHTp. MVIJ'IOBI/IAOBG // 07.2022




